= 140 - ;}
30_ AJUSTED END STOP S
J % k/ E53P AJUSTED END STOP
OVAL HOLE (28) CSK.90° @12.5
FOR SCREW FHC M6 43.25 +1.25
35 75 3 (@8) F.90° $12.5 50 | A-A
} A </1200 FOR SCREW FHC M6 | }
| - | e
| | P~ @) P~ A % ! | |
‘ §\< & N & \7:“/ hs 34\ H H
| A t ' N
| A- |
\ 3 SCREWS R17 25|25 \
| FHC M8 L20 DIN7991 R24 |
| TIGHTEN SCREWS AFTER FINAL POSITIONING N
| TIGHTENING TORQUE 20 N.m R
| L 550 / 650 / 1050

1 - Linear rail E53P + Plastic cap ( BE 559 ) \
2 - Carrier G53 with pivot assembly ( BE 531) }
3 - Right front bracket ( BE 530 ) |
4 - Left front bracket ( BE 530 ) }

|

LOAD FOR A SET : 100 Kg

HOLES
FOR SCREWS CHC M8
TIGHTENING TORQUE 10 N.m

—
P11
<
‘ 55

FRAME'S COUNTERSINKING

@, /$|u Te o (4J9) 71U

>1.5mm
= SCREW M6
3

| - OPTIONS: FRAME

} Length of rail, @ and hole pattern to customer's requirement

\

\ - Dimensions in mm

} - Maxi speed of use: 0.5 m/s FT801 | E53GP

slerail @y A Qv B BT 5N YR INEAR RALS! [ a0 [5 5 ot onrz| T
IU alfy J=11 T T T T T T






